

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM **BILLING DEPARTMENT** P O BOX 80463 SEATTLE WA 98108

email:

## **COMPLETED** PURCHASE ORDER NO 0001118446 CHANGE ORDER

Date	Revision	Page			
11/03/2021	1 - 11/03/202	21 1			
Payment Terr	ns Freight Terms	Ship Via			
NET 30	Shipping Point	Best Method			
Reference: Location / Dept					
1033159 DOV	VELLZ ROUILLERS	04ASPH130 SME			

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt?	Ν
Line Seb	

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
1- 1	LONG RANGE REPEATER	3.00EA	331.55	994.65	11/17/2021
2 REC-8851 1 REC-8899	DAVIS INSTRUMENTS 7654 SOLAR-POWERED LONG-RANGE REPEATER				
1 KLC-0077	BRAND: DAVIS INSTRUMENTS				
2- 1	WETNESS SENSOR	1.00EA	112.50	112.50	11/17/2021
REC-8872	DAVIS LEAF WETNESS SENSOR - 6420				
3- 1	SOIL STATION	2.00EA	511.10	1,022.20	11/17/2021
REC-8912	DAVIS INSTRUMENTS 6345CS COMPLETE WIRELESS SOIL MOISTURE/TEMPERATURE STATION - INCLUDES SENSORS				
4- 1	TRANSMITTER KIT	3.00EA	142.90	428.70	11/17/2021
REC-8912	DAVIS INSTRUMENTS 6332 ANEMOMETER/SENSOR TRANSMITTER KIT				
5- 1	WEATHERLINK LIVE	3.00EA	190.00	570.00	11/17/2021
REC-8872	DAVIS INSTRUMENTS 6100 WEATHERLINK LIVE   WIRELESS DATA COLLECTION HUB FOR VANTAGE VUE / PRO2 WEATHER STATIONS   AUTOMATIC DATA UPLOADS TO WEATHERLINK CLOUD   WI-FI / ETHERNET   ALEXA-COMPATIBLE				
6- 1 REC-880	DATA LOGGER	3.00EA	130.37	391.11	11/17/2021
NEC-000	DAVIS INSTRUMENTS 6510USB WEATHERLINK USB DATA LOGGER AND SOFTWARE FOR WINDOWS				
7- 1 REC_882	1 TRIPOD	4.00EA	150.00	600.00	11/17/2021
	DAVIS INSTRUMENTS MOUNTING TRIPOD WITH THREE (3X) 18" LAG BOLTS FOR WEATHER STATION SITING BRAND: DAVIS INSTRUMENTS				

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment. Authorized Signature AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

#### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

## PURCHASE ORDER NO 0001118446 CHANGE ORDER

Date	Revision	Page			
11/03/2021	1 - 11/03/202	2 2			
Payment Ter	ms Freight Terms	Ship Via			
NET 30	Shipping Point	Best Method			
Reference: Location / Dept					
1033159 DO\	NELLZ ROUILLERS	04ASPH130 SME			

**Ship To:** FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court Sacramento CA 95825-3981

United States

Tax	Exer	npt?	N
Iax	EXCI	IIDLE	- 1

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
8- 1	WEATHER STATION	3.00EA	1,120.91	3,362.73	11/17/2021
REC2-8899	DAVIS INSTRUMENTS 6163 VANTAGE PRO2 PLUS WIRELESS WEATHER STATION WITH UV SENSOR, SOLAR RADIATION SENSOR AND 24-HR FAN-ASPIRATED RADIATION SHIELD BRAND: DAVIS INSTRUMENTS				
9- 1	POLE MOUNT	3.00EA	17.00	51.00	11/17/2021
REC-8809	WILSON ELECTRONICS POLE MOUNT FOR WEBOOST OUTSIDE HOME ANTENNA - 901117 - 10" LENGTH				
10- 1	BATTERY CHARGER	1.00EA	9.99	9.99	11/17/2021
REC-8809	RLECS LIPO BATTERY FAST CHARGER FOR RC DRONE MAX 2.5A CURRENT INPUT 3.7V 6 IN 1 SET BRAND: RLECS				
11- 1	BATTERY	5.00EA	11.70	58.50	11/17/2021
REC-8871	1PCS 18650 3.7V 4400MAH 1S2P LI ION RECHARGEABLE BATTERY PACK WITH 2.0PIN JST-PH CONNECTOR 16.28WH/4.4A BRAND: ¿¿				
12- 1	SENSOR MODULES KIT	1.00EA	34.98	34.98	11/17/2021
REC-8809	ELEGOO UPGRADED 37 IN 1 SENSOR MODULES KIT WITH TUTORIAL COMPATIBLE WITH ARDUINO IDE UNO R3 MEGA NANO				
13- 1	IOT STARTER KIT	3.00EA	114.00	342.00	11/17/2021
REC-8851	ARDUINO OPLA IOT KIT CLOUD IOT STARTER KIT				

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

#### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

## PURCHASE ORDER NO 0001118446 CHANGE ORDER

Date	Revision	Page			
11/03/2021	1 - 11/03/202	1 3			
Payment Terr	ms Freight Terms	Ship Via			
NET 30	Shipping Point	Best Method			
Reference: Location / Dept					
1033159 DOV	VELLZ ROUILLERS	04ASPH130 SME			

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
14- 1	SCREWS- 1280 PIECES	2.00EA	25.99	51.98	11/17/2021
REC-8851 REC1-8899	HELIFOUNER 1280 PIECES M2 M3 M4 M5 PHILLIPS PAN HEAD MACHINE SCREWS, FLAT WASHERS AND NUTS ASSORTMENT				
KECT 0077	KIT, 304 STAINLESS STEEL BRAND: HELIFOUNER				
15- 1	LARGE WASHERS	2.00EA	22.59	45.18	11/17/2021
REC-8809	HELIFOUNER 1280 PIECES M2 M3 M4 M5 PHILLIPS PAN HEAD MACHINE SCREWS, FLAT WASHERS AND NUTS ASSORTMENT KIT, 304 STAINLESS STEEL BRAND: HELIFOUNER				
16- 1	FLAT WASHERS	2.00EA	12.99	25.98	11/17/2021
REC-8809	SUTEMRIBOR 304 STAINLESS STEEL FLAT WASHERS SET 580 PIECES, 9 SIZES - M2 M2.5 M3 M4 M5 M6 M8 M10 M12 BRAND: SUTEMRIBOR				
17- 1	M3 M4 M5 M6 SOCKET CAP KIT	2.00EA	25.99	51.98	11/17/2021
REC-8872	304 STAINLESS STEEL SCREWS BOLTS NUTS WASHERS ASSORTMENT 600PCS, HEX SOCKET HEAD CAP HARDWARE FASTENER KIT M3 M4 M5 M6				
18- 1	M2 M2.5 M3 M4 BUTTON HEAD CAP KIT	2.00EA	23.99	47.98	11/17/2021
REC-8809	304 STAINLESS STEEL HEX HEAD SCREW ASSORTMENT SET 820PCS, VIGRUE M2 M2.5 M3 M4 BUTTON HEAD SOCKET CAP SCREWS BOLTS NUTS WASHERS KIT				

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

#### PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM **BILLING DEPARTMENT** P O BOX 80463 SEATTLE WA 98108

email:

#### PURCHASE ORDER NO 0001118446 CHANGE ORDER

Date	Revision	Page			
11/03/2021	1 - 11/03/202	1 4			
Payment Ter	ms Freight Terms	Ship Via			
NET 30	Shipping Point	Best Method			
Reference: Location / Dept					
1033159 DO	WELLZ ROUILLERS	04ASPH130 SME			

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
19- 1	1080 SOCKET CAP	2.00EA	25.99	51.98	11/17/2021
REC-8809	VIGRUE M2-M3-M4-1080PCS STAINLESS STEEL SCREWS AND NUTS, 1080 PCS HEX SOCKET HEAD CAP, SILVER				
20- 1	1080 BUTTON HEAD	2.00EA	25.91	51.82	11/17/2021
REC-8809	VIGRUE M2 M3 M4 M5 STAINLESS STEEL SCREWS NUTS WASHERS ASSORTMENT KIT WITH ALLEN WRENCHES, 1080PCS HEX SOCKET BUTTON HEAD CAP SCREWS				
21- 1	1225 SOCKET CAP	2.00EA	30.99	61.98	11/17/2021
REC-8809	304 STAINLESS STEEL M2 M3 M4 M5 HEX SOCKET HEAD CAP SCREWS NUTS AND FLAT WASHER ASSORTMENT KIT WITH ALLEN WRENCH 1225PCS				
22- 1	#8-32 PHILLIPS SCREWS KIT	2.00EA	19.99	39.98	11/17/2021
REC-8851	VIGRUE 470PCS #8-32 PHILLIPS PAN HEAD SCREWS BOLT NUT FLAT WASHERS 304 STAINLESS STEEL MACHINE SCREWS ASSORTMENT KIT WITH SCREWDRIVER BIT AND STORAGE CASE				
23- 1	#6-32#8-32#10-24 PHILLIPS SCREWS KIT	2.00EA	26.99	53.98	11/17/2021
REC-8809	VIGRUE 600PCS #6-32#8-32#10-24 PHILLIPS PAN HEAD SCREWS BOLT NUT FLAT WASHERS 304 STAINLESS STEEL MACHINE SCREWS ASSORTMENT KIT WITH WRENCH AND STORAGE CASE				

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment. Authorized Signature AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636

Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

## PURCHASE ORDER NO 0001118446 CHANGE ORDER

Date	Revision	Page				
11/03/2021	1 - 11/03/202	1 5				
Payment Ter	ms Freight Terms	Ship Via				
NET 30	Shipping Point	Best Method				
Reference: Location / Dept						
1033159 DOV	VELLZ ROUILLERS	04ASPH130 SME				

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
24- 1	DIN RAIL POWER SUPPLY	2.00EA	31.40	62.80	11/17/2021
REC-8809	MEAN WELL EDR-120-24 SINGLE OUTPUT DIN RAIL POWER SUPPLY 24V 5 AMP 120W BRAND: MEAN WELL				
25- 1	EURORACK SYNTH MODULE	1.00EA	279.00	279.00	11/17/2021
REC-8821	ERICA SYNTHS BLACK VCO2 ANALOG VCO EURORACK SYNTH MODULE BRAND: ERICA SYNTHS				

ORDERS PLACED 11-03-21 - SR

114-5337419-1858609 114-8631510-4861067 114-2644278-7977854 114-6124218-2331420 114-2843614-3943436

**PAID** 

CHECK #: 0094821681

**DATE:** 11/12/21

**AMOUNT \$:** 9485.26

VOUCHER #: 00612968

 BU
 Acct
 Fd
 Org
 Prog
 Sub
 Proj
 Amount
 BYear

 GENFD
 4500
 12
 FL.VI.SWPA
 09000
 00000
 484z
 9,485.23
 2022

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature

Sub Total Amount

**Sales Tax Amount** 

**Total PO Amount** 

8,803.00

9,485.23

682.23

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

## PURCHASE ORDER NO 0001118446 CHANGE ORDER

Date	Revision	Page
11/03/2021	1 - 11/03/202	21 6
Payment Terms	Freight Terms	Ship Via
NET 30 S	hipping Point	Best Method
Reference:		Location / Dept
1033159 DOWEL	LZ ROUILLERS	04ASPH130 SME

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch Item/Description Quantity UOM PO Price Extended Amt Due Date

0001033159CHAVEZA01-NOV-2021

Verification of this purchase order can be made using the Los Rios Community College District web site listed below. If you have any questions, please contact the Purchasing Office at (916)568-3071.

http://www.losrios.edu/purchasing/povalidation

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature
AUTHORIZED SIGNATURE ON
PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATH OF WAY 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001033159 10/28/2021 Requisition Name: AMAZON.COM Requester Zachary Dowell
Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 28-OCT-2021

Line-Schd	Description	Quanti	ty UOM	Price	Extended Amt Due Date
1-1	LONG RANGE REPEATER	3	EA	331.55	994.65 11/11/2021
	DAVIS INSTRUMENTS 7654 SOLAR-POWERED LONG-RANGE REPEATER BRAND: DAVIS INSTRUMENTS				
2-1	WETNESS SENSOR	1	EA	112.50	112.50 11/11/2021
	DAVIS LEAF WETNESS SENSOR - 6420				
3-1	SOIL STATION	2	EA	511.10	1,022.20 11/11/2021
	DAVIS INSTRUMENTS 6345CS COMPLETE WIRELESS SOIL MOISTURE/TEMPERATURE STATION - INCLUDES SENSORS				
4-1	TRANSMITTER KIT	3	EA	142.90	428.70 <b>11/11/2021</b>
	DAVIS INSTRUMENTS 6332 ANEMOMETER/SENSOR TRANSMITTER KIT				
5-1	WEATHERLINK LIVE	3	EA	190.00	570.00 <b>11/11/2021</b>
	DAVIS INSTRUMENTS 6100 WEATHERLINK LIVE   WIRELESS DATA COLLECTION HUB FOR VANTAGE VUE / PRO2 WEATHER STATIONS   AUTOMATIC DATA UPLOADS TO WEATHERLINK CLOUD   WI-FI / ETHERNET   ALEXA-COMPATIBLE				
6-1	DATA LOGGER	3	EA	130.37	391.11 11/11/2021
	DAVIS INSTRUMENTS 6510USB WEATHERLINK USB DATA LOGGER AND SOFTWARE FOR WINDOWS				
7-1	TRIPOD	4	EA	150.00	600.00 11/11/2021
	DAVIS INSTRUMENTS MOUNTING TRIPOD WITH THREE (3X) 18" LAG BOLTS FOR WEATHER STATION SITING BRAND: DAVIS INSTRUMENTS				
8-1	WEATHER STATION	3	EA	1,120.91	3,362.73 11/11/2021
	DAVIS INSTRUMENTS 6163 VANTAGE PRO2 PLUS WIRELESS WEATHER STATION WITH UV SENSOR, SOLAR RADIATION SENSOR AND 24-HR FAN-ASPIRATED RADIATION SHIELD BRAND: DAVIS INSTRUMENTS				
9-1	POLE MOUNT	3	EA	17.00	51.00 11/11/2021
	WILSON ELECTRONICS POLE MOUNT FOR WEBOOST OUTSIDE HOME ANTENNA - 901117 - 10" LENGTH				

Approval Signature	Approval Signature	Approval Signature

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATH OF WAY 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001033159 10/28/2021 2 Requisition Name: AMAZON.COM Requester Zachary Dowell
Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 28-OCT-2021

		EIIC	ered by.	SAATIA 20-	-0C1-2021
Line-Schd	Description	Quanti	ty UOM	Price	Extended Amt Due Date
10-1	BATTERY CHARGER  RLECS LIPO BATTERY FAST CHARGER FOR RC DRONE MAX 2.5A CURRENT INPUT 3.7V 6 IN 1 SET BRAND: RLECS	1	EA	9.99	9 . 99 11/11/2021
11-1	BATTERY  1PCS 18650 3.7V 4400MAH 1S2P LI ION RECHARGEABLE BATTERY PACK WITH 2.0PIN JST-PH CONNECTOR 16.28WH/4.4A BRAND: ¿¿	5	EA	11.70	58.50 <b>11/11/2021</b>
12-1	SENSOR MODULES KIT ELEGOO UPGRADED 37 IN 1 SENSOR MODULES KIT WITH TUTORIAL COMPATIBLE WITH ARDUINO IDE UNO R3 MEGA NANO	1	EA	34.98	34.98 11/11/2021
13-1	IOT STARTER KIT  ARDUINO OPLA IOT KIT CLOUD IOT  STARTER KIT	3	EA	114.00	342.00 11/11/2021
14-1	SCREWS- 1280 PIECES  HELIFOUNER 1280 PIECES M2 M3 M4 M5 PHILLIPS PAN HEAD MACHINE SCREWS, FLAT WASHERS AND NUTS ASSORTMENT KIT, 304 STAINLESS STEEL BRAND: HELIFOUNER	2	EA	25.99	51.98 11/11/2021
15-1	LARGE WASHERS  HELIFOUNER 1280 PIECES M2 M3 M4 M5 PHILLIPS PAN HEAD MACHINE SCREWS, FLAT WASHERS AND NUTS ASSORTMENT KIT, 304 STAINLESS STEEL BRAND: HELIFOUNER	2	EA	22.59	45.18 11/11/2021
16-1	FLAT WASHERS  SUTEMRIBOR 304 STAINLESS STEEL FLAT WASHERS SET 580 PIECES, 9 SIZES - M2 M2.5 M3 M4 M5 M6 M8 M10 M12	2	EA	12.99	25.98 11/11/2021

Approval Signature	Approval Signature	Approval Signature

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001033159 10/28/2021 3 Requisition Name: AMAZON.COM Requester Zachary Dowell
Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 28-OCT-2021

			•		
Line-Schd	Description	Quanti	ty UOM	Price	Extended Amt Due Date
	BRAND: SUTEMRIBOR				
17-1	M3 M4 M5 M6 SOCKET CAP KIT	2	EA	25.99	51.98 11/11/2021
	304 STAINLESS STEEL SCREWS BOLTS NUTS WASHERS ASSORTMENT 600PCS, HEX SOCKET HEAD CAP HARDWARE FASTENER KIT M3 M4 M5 M6				
18-1	M2 M2.5 M3 M4 BUTTON HEAD CAP KIT	2	EA	23.99	47.98 11/11/2021
	304 STAINLESS STEEL HEX HEAD SCREW ASSORTMENT SET 820PCS, VIGRUE M2 M2.5 M3 M4 BUTTON HEAD SOCKET CAP SCREWS BOLTS NUTS WASHERS KIT				
19-1	1080 SOCKET CAP	2	EA	25.99	51.98 11/11/2021
	VIGRUE M2-M3-M4-1080PCS STAINLESS STEEL SCREWS AND NUTS, 1080 PCS HEX SOCKET HEAD CAP, SILVER				
20-1	1080 BUTTON HEAD	2	EA	25.91	51.82 11/11/2021
	VIGRUE M2 M3 M4 M5 STAINLESS STEEL SCREWS NUTS WASHERS ASSORTMENT KIT WITH ALLEN WRENCHES, 1080PCS HEX SOCKET BUTTON HEAD CAP SCREWS				
21-1	1225 SOCKET CAP	2	EA	30.99	61.98 11/11/2021
	304 STAINLESS STEEL M2 M3 M4 M5 HEX SOCKET HEAD CAP SCREWS NUTS AND FLAT WASHER ASSORTMENT KIT WITH ALLEN WRENCH 1225PCS				
22-1	#8-32 PHILLIPS SCREWS KIT	2	EA	19.99	39.98 11/11/2021
	VIGRUE 470PCS #8-32 PHILLIPS PAN HEAD SCREWS BOLT NUT FLAT WASHERS 304 STAINLESS STEEL MACHINE SCREWS ASSORTMENT KIT WITH SCREWDRIVER BIT AND STORAGE CASE				

Approval Signature	Approval Signature	Approval Signature

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000006424

OPEN **Business Unit:** GENFD Page Req ID: Date 0001033159 10/28/2021 4 Requisition Name: AMAZON.COM Requester Zachary Dowell Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 28-OCT-2021

Line-Schd	Description	Quantity UOM	Price	Extended Amt Due Date
23-1	#6-32#8-32#10-24 PHILLIPS SCREWS KIT	2 <b>EA</b>	26.99	53.98 11/11/2021
	VIGRUE 600PCS #6-32#8-32#10-24 PHILLIPS PAN HEAD SCREWS BOLT NUT FLAT WASHERS 304 STAINLESS STEEL MACHINE SCREWS ASSORTMENT KIT WITH WRENCH AND STORAGE CASE			
24-1	DIN RAIL POWER SUPPLY	2 <b>EA</b>	31.40	62.80 11/11/2021
	MEAN WELL EDR-120-24 SINGLE OUTPUT DIN RAIL POWER SUPPLY 24V 5 AMP 120W BRAND: MEAN WELL			
25-1	EURORACK SYNTH MODULE	1 EA	279.00	279.00 <b>11/11/2021</b>
	ERICA SYNTHS BLACK VCO2 ANALOG VCO EURORACK SYNTH MODULE BRAND: ERICA SYNTHS			

8,803.00 Sub-total 682.23 Est. tax

9,485.23 Total Requisition Amount:

Order#

114-8631510-4861067 114-6124218-2331420 114-5337419-1858609 114-2843614-3943436 114-2644278-7977854

 
 Org
 Prog
 Sub

 FL.VI.SWPA
 09000
 00000
 <u>Proi</u> Acct Fd **Amount** GENFD 4500 12 484Z 8,803.00

Approval Signature	Approval Signature	Approval Signature

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 0000006424

OPEN **Business Unit:** GENFD Page Req ID: Date 0001033159 10/28/2021 5 Requisition Name: AMAZON.COM Requester Zachary Dowell Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 28-OCT-2021

Line-Schd Description Quantity UOM Price Extended Amt Due Date

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: SWP - regional Innovation Center (aka MakerSpace)

Project Grant:

Program Director:

484z V. Maryatt Program Goal: supplies and materials to improve Center offerings

Approval Signature	Approval Signature	Approval Signature



#### Details for Order #114-8631510-4861067

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: October 28, 2021

**Amazon.com order number:** 114-8631510-4861067

Order Total: \$300.62

#### **Business order information**

Requisition number: 0001033159

#### **Not Yet Shipped**

Items OrderedPrice1 of: Erica Synths Black VCO2 Analog VCO Eurorack Synth Module\$279.00

Sold by: GearTree (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Standard Shipping

#### **Payment information**

Payment Method: Item(s) Subtotal: \$279.00

Shipping & Handling: \$0.00

----

Total before tax: \$279.00

Estimated tax to be collected: \$21.62

----

**Grand Total: \$300.62** 

To view the status of your order, return to Order Summary.



#### **Details for Order #114-6124218-2331420**

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: October 28, 2021

**Amazon.com order number:** 114-6124218-2331420

Order Total: \$6,911.74

#### **Business order information**

**Requisition number:** 0001033159

#### **Not Yet Shipped**

Items Ordered 2 of: VIGRUE 600PCS #6-32#8-32#10-24 Phillips Pan Head Screws Bolt Nut Flat Washers 304 Stainless Steel Machine Screws Assortment Kit with Wrench and Storage Case Sold by: VIGRUE-KING OF SCREW (seller profile)	<b>Price</b> \$26.99
Condition: New 2 of: MEAN WELL EDR-120-24 Single Output DIN Rail Power Supply 24V 5 Amp 120W Sold by: Stream flower store (seller profile) Business Price	\$31.40
Condition: New  3 of: Arduino OPLA IOT Kit Cloud IOT Starter Kit Sold by: Arduino (seller profile)	\$114.00
Condition: New 2 of: HELIFOUNER 1280 Pieces M2 M3 M4 M5 Phillips Pan Head Machine Screws, Flat Washers and Nuts Assortment Kit, 304 Stainless Steel Sold by: HELIFOUNER (seller profile)	\$25.99
Condition: New 2 of: 304 Stainless Steel Large Fender Washers Assortment Kit, 230 Pieces 15 Sizes – M3 M4 M5 M6 M8 M10 M12 Suitable for Furniture Installation, Ship Car Assembly, DIY Project, Electrical Connections Sold by: LuKaiSen Hardware (seller profile) Business Price	\$22.59
Condition: New 2 of: Sutemribor 304 Stainless Steel Flat Washers Set 580 Pieces, 9 Sizes - M2 M2.5 M3 M4 M5 M6 M8 M10 M12 Sold by: Sutemribor (seller profile)	\$12.99
Condition: New 2 of: 304 Stainless Steel Screws Bolts Nuts Washers Assortment 600PCS, Hex Socket Head Cap Hardware Fastener Kit M3 M4 M5 M6 Sold by: VIGRUE-KING OF SCREW (seller profile)	\$25.99
Condition: New 2 of: 304 Stainless Steel Hex Head Screw Assortment Set 820PCS, VIGRUE M2 M2.5 M3 M4 Button Head Socket Cap Screws Bolts Nuts Washers Kit Sold by: VIGRUE-KING OF SCREW (seller profile)	\$23.99
Condition: New 2 of: VIGRUE M2-M3-M4-1080PCS Stainless Steel Screws and Nuts, 1080 Pcs Hex Socket Head Cap, Silver Sold by: VIGRUE-KING OF SCREW (seller profile) Business Price	\$25.99

Condition: New 2 of: VIGRUE M2 M3 M4 M5 Stainless Steel Screws Nuts Washers Assortment Kit with Allen Wrenches, 1080pcs Hex Socket Button Head Cap Screws Sold by: VIGRUE-KING OF SCREW (seller profile) Business Price	\$25.91
Condition: New 2 of: 304 Stainless Steel M2 M3 M4 M5 Hex Socket Head Cap Screws Nuts and Flat Washer Assortment Kit with Allen Wrench 1225PCS Sold by: VIGRUE-KING OF SCREW (seller profile)	\$30.99
Condition: New 2 of: VIGRUE 470PCS #8-32 Phillips Pan Head Screws Bolt Nut Flat Washers 304 Stainless Steel Machine Screws Assortment Kit with Screwdriver Bit and Storage Case Sold by: VIGRUE-KING OF SCREW (seller profile)	\$19.99
Condition: New  3 of: Davis Instruments 6100 WeatherLink Live   Wireless Data Collection Hub for Vantage Vue / Pro2 Weather Stations   Automatic Data Uploads to WeatherLink Cloud   Wi-Fi / Ethernet   Alexa-Compatible Sold by: RainmanWeather (seller profile)	\$190.00
Condition: New 3 of: Davis Instruments 6510USB WeatherLink USB Data Logger and Software for Windows Sold by: stores123 (seller profile)	\$130.37
Condition: New 3 of: Wilson Electronics Pole Mount for weBoost Outside Home Antenna - 901117 - 10" length Sold by: Amazon.com Services LLC	\$17.00
Condition: New  1 of: RLECS Lipo Battery Fast Charger for RC Drone Max 2.5A Current Input 3.7V 6 in 1 Set Sold by: RuiLing (seller profile)	\$9.99
Condition: New  1 of: ELEGOO Upgraded 37 in 1 Sensor Modules Kit with Tutorial Compatible with Arduino IDE UNO R3 MEGA Nano Sold by: ELEGOO Official US (seller profile) Business Price	\$34.98
Condition: New  1 of: Davis Leaf Wetness Sensor - 6420 Sold by: RainmanWeather (seller profile)	\$112.50
Condition: New 3 of: Davis Instruments 7654 Solar-Powered Long-Range Repeater Sold by: Amazon.com Services LLC	\$331.55
Condition: New 3 of: Davis Instruments 6163 Vantage Pro2 Plus Wireless Weather Station with UV Sensor, Solar Radiation Sensor and 24-hr Fan-Aspirated Radiation Shield Sold by: stores123 (seller profile)	\$1,120.91

#### **Shipping Address:**

Condition: New

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

**Shipping Speed:** Two-Day Shipping

## **Payment information**

**Payment Method:** Item(s) Subtotal: \$6,414.60

Shipping & Handling: \$0.00

Total before tax: \$6,414.60

Estimated tax to be collected: \$497.14

Grand Total: \$6,911.74

To view the status of your order, return to Order Summary.



#### Details for Order #114-5337419-1858609

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: October 28, 2021

**Amazon.com order number:** 114-5337419-1858609

Order Total: \$63.05

#### **Business order information**

Requisition number: 0001033159

#### **Not Yet Shipped**

Items Ordered Price

5 of: 1Pcs 18650 3.7v 4400mAh 1S2P Li ion Rechargeable Battery Pack with 2.0Pin JST- \$11.70

PH Connector 16.28Wh/4.4A

Sold by: Batterysaler Technology (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Standard Shipping

#### **Payment information**

Payment Method: Item(s) Subtotal: \$58.50

Shipping & Handling: \$0.00

----

Total before tax: \$58.50

Estimated tax to be collected: \$4.55

----

Grand Total: \$63.05

To view the status of your order, return to <u>Order Summary</u>.



#### Details for Order #114-2843614-3943436

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: October 28, 2021

**Amazon.com order number:** 114-2843614-3943436

Order Total: \$1,563.33

#### **Business order information**

Requisition number: 0001033159

#### **Not Yet Shipped**

Items Ordered Price

2 of: DAVIS INSTRUMENTS 6345CS Complete Wireless Soil Moisture/Temperature \$511.10

Station - Includes Sensors
Sold by: Lifeline Brands (seller profile)

Condition: New

3 of: Davis Instruments 6332 Anemometer/sensor transmitter kit \$142.90

Sold by: Lifeline Brands (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Standard Shipping

#### **Payment information**

Payment Method: Item(s) Subtotal: \$1,450.90

Shipping & Handling: \$0.00

----

Total before tax: \$1,450.90

Estimated tax to be collected: \$112.43

----

**Grand Total: \$1,563.33** 

To view the status of your order, return to <u>Order Summary</u>.



#### Details for Order #114-2644278-7977854

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Amira Saati

Order Placed: October 28, 2021

**Amazon.com order number:** 114-2644278-7977854

Order Total: \$646.52

#### **Business order information**

Requisition number: 0001033159

#### **Not Yet Shipped**

Items Ordered Price

4 of: Davis Instruments Mounting Tripod with Three (3X) 18" Lag Bolts for Weather

Station Siting

Sold by: Davis Instruments (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Standard Shipping

#### **Payment information**

Payment Method: Item(s) Subtotal: \$600.00

Shipping & Handling: \$0.00

----

\$150.00

Total before tax: \$600.00

Estimated tax to be collected: \$46.52

----

**Grand Total: \$646.52** 

To view the status of your order, return to Order Summary.

Ship To:

FOLSOM LAKE COLLEGE - RECEIVING - PO0001118446 10 COLLEGE PKWY FOLSOM, CA 95630-6798

Buyer PO #: 0001118446

Order ID: 114-2644278-7977854

Thank you for buying from Davis Instruments on Amazon Marketplace.

Shipping Address:

Order Date:

Thu, Oct 28, 2021

FOLSOM LAKE COLLEGE -

Shipping Service:

Standard

RECEIVING

Buyer Name:

Amira

10 COLLEGE PKWY

Seller Name:

**Davis Instruments** 

FOLSOM, CA 95630-6798

Quantity	Product Details		Order Totals	
4	Davis Instruments Mounting Tripod with Three (3X) 18" Lag Bolts for Weather Station Siting SKU: 7716A ASIN: B07G8RPV7F Condition: New Order Item ID: 40263022125194	\$150.00	Item subtota Tax Item total	\$600.00 \$46.52 <b>\$646.52</b>

Grand total: \$646.52

#### Returning your item:

Go to "Your Account" on Amazon.com, click "Your Orders" and then click the "seller profile" link for this order to get information about the return and refund policies that apply.

Visit https://www.amazon.com/returns to print a return shipping label. Please have your order ID ready.

Thanks for buying on Amazon Marketplace. To provide feedback for the seller please visit www.amazon.com/feedback. To contact the seller, go to Your Orders in Your Account. Click the seller's name under the appropriate product. Then, in the "Further Information" section, click "Contact the Seller."

PO#000 1118 446 PCVR# 000 109 3821

LINE #7, 25 AS PER PS HAS BEEN REC. 11/10/21mkn

11/5/21 Bake

# amazon.com



Purchase Order #: 0001118446

Qty	Item		Item Price	Total
3	Wilson Electronics Pole Mount fr Antenna - 901117 - 10" length Wireless Phone Accessory BG03D1QPHK B003D1QPHK 012302761374	or weBoost Outside Home	\$17.00	\$51.00
quick	e sent this part of your order to ensure er service. The other items will ship ately.	Subtotal Tax Collected Shipment Total		\$51.00 \$3.96 \$54.96

Return or replace your item Visit Amazon.com/returns

0/MvZ870Z3r/-3 of 3-//TCY5-CART-B/second/0/1104-02:00/1103-15:22

C3 -PM7

Total

\$25 98

\$25.98

\$2,02

\$28.00



Your	order of October 28, 2021 (Order ID 114-6124218-2331420)	
Qty.	Item	Item Price
7	Sutemribor 304 Stainless Steel Flat Washers Set 580 Pieces, 9	\$12.99

Sizes - M2 M2.5 M3 M4 M5 M6 M8 B07CG9J4NC	LINE 16
STBR-580p-dianquan-yin 66175738	30564 (Sold by Sutemilbor)
We've sent this part of your order to ensure quicker service. The other items will ship separately.	Subtotal Tax Collected

Shipment Total

Return or replace your item Visit Amazon.com/returns

#### 

0/MI	0/MhQqk2Z7r/-2 of 2-//TCY5-CART-8/second/0/1104-00:30/1103-13:03		B1- M2
Qty.	item	Item Price	Total
2	VIGRUE M2-M3-M4-1080PCS Staffiless Steel Screws and Nuts, 1080 Pcs Hex Socket Hoad Gap, Silver Tools & Home Improvement B071KBVZVV LINE 19 M2-M3-M4-1080PCS 602105645171 (Sold by VIGRUE-KING OF SCREW)	\$25 99	\$51 98
<sup>2</sup> /	VIGRUE 600PCS #6-32#8-32*10-24 Phillips Pan Head Screws Bolt Nut Flat Washers 304 Stainless Steel Machine Screws Assortm X002SMTIV1 LINE 23 600 Phillips Pan Head Screws (Sold by VIGRUE-KING OF SCREW)	\$26 99	\$53 98
2/	304 Stainless Steel M2 M3 M4 M5 Hex Socket Head Cap Screws Nuts and Flat Washer Assortment Kit with Allen Wrench 1225PCS Misc. X002JE3RDN LINE 21	\$30.99	\$61,98

X002JE3RDN LINE 21 YSYZ-1225-277US (Sold by VIGRUE	-KING OF SCREW)	
We've sent this part of your order to ensure quicker service. The other items will ship separately,	Subtotal Tax Collected Shipment Total	\$347.90 \$26.95 \$374.85
Return or replace your Item Visit Amazon.com/returns		
VISIC AMBZON.COM/returns		

#### 

0/MsRW0SWzr/-13 of 13-//TCY5-CART-A/second/0/1103-16:00/1103-11:29 A3 -143 + AMAZON

# po # on 1118 446 PCVP # 000 109 8809

L#6, 9, 10, 12, 15, 16, 18, 19, 20, 21, 23, 24 11/5/21 AS PER PS WERE REC. 11/10/21mkn





Vour	hase Order <mark>#; 0001118446</mark> order of Oc <mark>tober 28, 2021 (</mark> Order ID 114-6124218-2331420)		
Qty	item Place in a second	Item Price	Total
/	RI.ECS Lipa Bactery Fast Charger for RC Drone Max 2.5A Current Input 3.7V 6 in 1 Set	\$9.99	\$9.99

RL-LBC-6in1-3.7V-1set 713836208837 (Sold by RuiLing) MEAN WELL EDR-120-24 Single Output DIN Rail Power Supply \$31.40 24V 5 Amp 120W \$62.80 X002LXZFL LINE 24

BSUSGM-EDR-120-24 608754594808 (Sold by Stream flower store) We've sent this part of your order to ensure quicker service. The other items will ship separately. Subtoral Tax Collected Shipment Total

Return or replace your item Visit Amazon.com/returns

## DEF TOTALDE I WE DOT DIRECTOR OF A DEFENDANT OF BUILDING

0/M42JXSWhr/-3 of 3-//TCY5-CART-B/second/0/1103-20:30/1103-10:04

0/MtV2tGwCr/-3 of 3 //TCY5-CART-A/second/0/11 03-16:30/1103-09:47

C1 -PM2

**B2-56** 

\$72.79 \$5.63

\$78.42





Purchase Orde <mark>r #: 000111844.6</mark> Your order of October 28, 2021 (Order ID	114-6124218-2331420)		
Qty. Item		Item Price	Total
Davis Instruments 6510USB Weath Saftware for Windows Sports B001AMKC14 LINE6 123-DAV-6510USB 011698007271		\$130.37	\$391.11
We've sent this part of your order to ensure quicker service. The other items will ship separately.	Subtotal Tax Collected Shipment Total		\$391 11 \$30.30 \$421.41

\* AMAZON

po#000 1118 446 RCVR # 000 109 8851

L#1, 13, 14, 22 AS PER PS WERE REC. 11/10/21mkn

amazon.com

Purchase Order #: 0001118446



Your order of October 28, 2021 (3rder ID 114-6124218-2331420)

١.	Item	item Price	Total
/	Davis Instruments 7654 Solar-Powered Lon 3-Range Repeater Misc.	\$331.55	\$663.10
	B00PR05150 B00PR05150 011698008285 2 rec LINE 1		

We've sent this part of your order to ensure quicker service. The other items will ship separately. \$663.10 Subtotal \$51.40 \$714.50 Tax Collected Shipment Total

Return or replace your item VIsit Amazon.com/returns

0/MHYWgSMfr/-2 of 2-//OKC5-MOR/second/0/1105-01:00/1104-14:37

A5-11B



Your order of October 28, 2021 (Order ID 114-6124218-2331420)

Qty.	Item		Item Price	Total
/	HELIFOUNER 1280 Pleces M2 M3 M Machine Screws, Flat Wash ers and Stainless Unknown Binding BOBLL1 WBQZ HELIFOUNER-Cross-Pan-Screw-1280 HELIFOUNER)	Nuts Assortment Kit, 304	\$25.99 by	\$25,99
/	Ardulno OPLA IOT Kit Cloud IOT St Electronics BOBLY4GB7J AKX00026 7630049202665 (Sold by	LINE13	\$114.00	\$342.00
Ve've	sent this part of your order to ensure	Subtotal		\$367.99

Tax Collected

Shipment Total

Return or replace your item Visit Amazon com/returns

quicker service. The other items will ship

0/Msz5ppw3r/-4 of 4-//CVG9-MOR/second/0/1103-21:00/1103-13:05

A10-168

\$28.53

\$396.52

11/8/21

## amazon.com



Qty.	Item		Item Price	Tota
2 ,	VIGRUE 470PCS #8-32 Phillips Pan H Washers 304 Stainless Steel Machine	lead Screws Bolt Nut Flat	\$19,99	\$39.98
1	wit X002XQGG5X 470 Phillips Pan Screws SAE (Sold by	VIGRUE-KING OF SCREW)	LINE 22	
Me, ve z	sent this part of your order to ensure r service. The other items will ship	Subtotal Tax Collected Shipment Total		\$39.98 \$3.10 \$43.08
	n or replace your item Amazon.com/returns			
111				
0/Mh\	VqSBWWr/-2 of 2-//MDW5-DAY/seco	nd/0/1103-14:00/1103-09:	51	PM2

\* AMAZON

Po# 000 1118 446 RCVF # 000 109 3872

L#2, 5, 17 AS PER PS HAS BEEN REC. 11/10/21mkn

11 9 21 Babe

amazon.com



y. (	Item		Item Price	Tota
	304 Stainless Steel <u>Screws Bolts Nu</u> 600PCS, Hex Socke <mark>t Fjead (Capy Hard</mark> M6 X002REV5BL		\$25.99	\$51.98
1	YSYZ600-383 (Sold by VIGRUE-KIN	G OF SCREW)		
	Davis Leaf Wetness Sensor - 6420 Tools & Ho <mark>me Improvement</mark> BOOOSAGTIE 35-2NOD-WRTA 0 1169800 2382 (So	Line 2 Id by RainmanWeather)	\$112.50	\$112.50
	Davis Instruments 6100 WeatherLin Collection Hub for Vantage Vue / P Automat Lawn & Patio BO7PVCV8Q6 LINE 5 65-AFUZ-4F58 011698013.449 (Sold	ro2 Weather Stations	\$190.00	\$570.00
	ent this part of your order to ensure service. The other items will ship ely.	Subtotal Tax Collected Shipment Total		\$734.48 \$56.93 \$791.41
	or replace your item			

\* AMAZON

DO# 000 1118 446

PCVF # 000 109 3371

L#11 AS PER PS HAS BEEN REC. 11/10/21mkn

11 /9 /21 Baba

\* No Packing List for this Line (Ln# 11).

\* AMAZON
PO+ 000 1118 446

PCVR # 000 109 8899

L#1, 14, 2/3#8 AS PER PS THESE WERE REC. 11/15/21mkn

amazon.com



Purchase Order #: 0001118446 Your order of October 28, 2021 (Order ID 114-6124218-2331420)

Total Davis Instruments 6163 Vantage Pro2 Plus Wireless Weather \$1,120.91 \$1.120.91 Station with UV Sensor, Solar Radiation Sensor and 24-hr Fan-

LINE 8 X0030XXW2X

123-DAV-6163\_FBA 011698007479 (Sold by stores123)

We've sent this part of your order to ensure quicker service. The other items will ship \$1,120.91 Tax Coffected separately. \$1,207.78 Shipment Total

Return or replace your Item Visit Amazon.com/returns

0/Mt3lJFVTr/-1 of 1-//UPS-CCHIL-T/second/0/1105-14:00/1105-00:41

C5 -P5

\* No packing list in box 1 for Ln#8

amazon.com



Purchase Order #: 0001118446 Your order of October 28, 2021 (Order ID 114-6124218-2331420)

Return or replace your Item

Davis instruments 6163 Vantage Pro2 Plus Wireless Weather Item Price Station with UV Sensor, Solar Radiation Sensor and 24-hr Fan-Total \$1,120,91 \$1,120.91 Misc

X0030XXW2X

123-DAV-6163\_FBA 011698007479 (Sold by stores123) We've sent this part of your order to ensure quicker service. The other items will ship

Subtotal Tax Collected \$1,120.91 Shipment Total \$86.87 \$1,207.78

Visit Amazon.com/returns itt dan ima a it bjæði þið þið í þlíð í þág þæitjamæta er þlí

D/MH3QJFVTr/-1 of 1-//UPS-CCHIL-T/second/0/1105-14:00/1104-23:00

C5 -**P5** 

## amazon.com



A6-11

Oty.	ase Order # 0001110440 order of October 28, 2021 (Order Item	Item Price	Tota
1/	HELIFOUNER 1280 Pieces M2 N Machine Screws, Flat Washers	and Nuts Assortment Kit, 304	\$25.9
		V# 14 LINE 14	
	HELIFOUNER)	1280-304 659499060608 (Sold by	\$331.5
1.	Davis Instruments 7654 Solar- Misc.	Powerrd Long-Range Repeater \$331.55	
	B00PR05150 B00PR05150 011698008285	LN#4 LINE 1	
This	hipment completes your order.	Subtotal Tax Collected Order Total	\$357.5 \$27.7 \$385.2

0/Mgy9Sf1Lr/-2 of 2-//UPS-NEXT/second/0/1106-10:00/1106-01:18

#### **PACKING SLIP**

RAHL DISTRIBUTION C/O SILICON VALLEY COMMERCE 1736 DUTCH MILL RD FRANKLINVILLE, NJ 08322

ap@siliconvalleycommerce.com Phone:

#### **SHIP TO**

RECEIVINGPO0001118446
FOLSOM LAKECOLLEGE
16 COLLEGE PKWY
FOLSOM, CA 95630-6798
UNITED STATES

#### **DETAILS**

BWAY: FEDG

PO#: 114-2843614-3943436

Order#: 15072731
Packing Slip#: 1
Date: 11/04/21
Handling: NONE
Reprint: No

ST	LOC	Item	Ship	Ordered	MFG #	Description	_
V	A.F.2.6	52158	) 3 N	red 3	6332	DAVIS ANEMOMETER/SENSOR TRANSMITTER KIT LINE 4	
V	A.F.2.7	52157	2	2	6345CS	DAVIS COMPLETE SOIL MOISTURE/ TEMPERATURE STATION	
						LINE 3	

L#3,4 AS PER PS HAVE BEEN REC. 11/15/21mkn

Potpool1118 446
RCVR#000109 3912

11/12/21 Baha

Message:

Batch: 50 01:42PM 02



Page: 1 of 1